B Arithmetlc: Order of operaiions

1 2x-35-8-2)+16 2
3 38+29(5+7) +11 4
3(L.2)

5 5273 6

7 3x15-2%x9+6%x—8 8

9 13+24+-12%x3 10

11 28%x3+68x~4 12
C | ‘ebra: Factorising algebralc expressions
Factorise: .

1 ab+2a 2 bc-2c

4 9ab+2b 5 3bc-2c

7 br-¢? 8 942-p?

10 10042 -81 , 11 64a% - 92

13 a®2+6a+5 14 a?+4a+4

16 a®+24-8 17 a®+6a+8

19 a2-24-8 20 a*+7a+10

3+4-4(5-8+2)-2

11.02+593-2+1)-6
3 2

2X 4 +5x 73
-12+-44+3%x-4+6

6X-3+4%x-2-3x-4
—-8X4+-9%X2+6.02x%x2

S5a-10b
a? - b?

9 16a2-c2
12 922-1

15 a?-4da+4
18 a*-24-3

D Algebra: Solving equations by removing one number

Solve the equation for a:

1 a+5=11 .2 a+6=-

4 a—11=— 5 2a=32

7 2a=-12 8 3a=-8

10 —6a= 11 -9a=15

13 2= ' 14 =23

) 5

16 2=—¢ 17 L=3
7 2

19 L -17 20 2=
2 -5
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E Algebra: Solving equations by removing two numbers

Solve the equation:
1 2a+4=14 2 3a—4=26 3

5% _ 0 6 22__ 7
7 5

9 8=l 3 g0 8*2_¢ 4
4 4

13 2a+1=10 14 3a-2=15 15

—2a+1=-7 4 -3a-8=10

3a

2

a3

2

-15 8 —=14

-2 12

4a+1=20




B 1 46 25

~18.8 12 _37.96
alb+2)

5(a - 2b)
c(3b-2)
b-c)b + )
(4a-c)(4q + c)
11 (8a-3b)(8a + 3b)
13 (a+5)a+ 1)

15 (a-2)(a-2)

17 (a+4)(a+ 2)

19 (@a-4)@+ 2)
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16 42 17 -6 1

E1s5 2 10
6 =25 7 10
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-1 12 g g3 4%

4 1682 5 1

9 7 10 -14

c(b-2)

b(9a + 2)

(a - b)a + b)
(a-b)3a + b)
(10a-9)(104 + 9)
(3a-DBa + 1)
(@a+2)a+2)
(@+4)a-2)
(@=3)a+1)

(@ +5)a+2)

4 2 5 16
9 -3 10 —=

14 -15 15 g
19 —68 20 -5

4 -6 § 35
9 —11 10 22

14 52 15 43
3 4
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